lfuﬂ;eji;de - 21 7 |

INTERMEDIATE EXAMINATION - 2024

T=AHITSUZ uiten - 2024

g .
Question Booklet ( ANNUAL / aﬁ:&ﬁ )
Set Code

=

o (VG 19PI00H UoIsend
i Lelifh k2R

§Lveh00

BUSINESS STUDIES
(ELECTIVE)

FaETaE A (a®)

I. Com.
F W : 100 +30 + 8 =138 Tl Hisd IS © 32
Total Questions ;: 100 + 30 + 8 = 138 Total Printed Pages : 32
(799 : 3 15 i) (qUii : 100)
[ Time : 3 Hours 15 Minutes | ; [ Full Marks : 100 |

Instructions for the candidates :

must enter his / her
Booklet Serial No.
(10 Digits) in the OMR Answer

es are required to gwe
wers in their own words
i practicable.

3& 3. Figures in the right hand margin
indicate full marks.

of extra time have been
the candidates to read
ns carefully.

[24/A/X11-501 1-8/40) | Page 1 / 32




I ovT _'_«'?rF:-?«?
que-y g gue-d/

6. WUZ-3 & 100 a’ﬁﬁ"ﬂm#
ﬁaﬁ'#&ﬁ'sawﬁwmﬁ
AErg &1 50 g @ ﬂ.ﬂﬁﬁ'z‘ k-”i?f
ﬁ?i’#wpﬂmwwﬁw
mfmw%fmaisﬁw%ﬁff
Wﬁ?ﬁ'ﬁ'%ﬁvww
70 OMR m-mﬁf?z,rwﬁﬁf’
o7 & S ) a1t aer o7 @
TIE #W B o gam &
‘HSEW/HWWXFFE/??E;?
ﬂﬂ%wamaar-m#m
P E, I s afromy
A iy

.m—ﬂﬁagwmmgr
m*hz%%gﬁw
7 15 T # gy

giﬁ%‘_"ﬁ%ﬁﬁ‘w%
#ﬁ"%? 4 Ouar FT7 v é_'_”
frare #

m%maﬁ%’ﬁ&! FT 8,

. in

Strictly,

This il stion .I_'J,-.,,«“"‘ |'lf_:-':'

s ¢ .f'.L-'rr,g'r.Lz Ig

(1] S — s il
Lo -.‘;e*r.rmm §%
Section-B.
6. In Section-A, there |
100 objective type ‘?Hes:i,, D'.I’W 3

of twhich any 50 ‘Iuestfo
be

50 guestions are

i Oy
¥
n&q,e ?"'-

answered.

= &
f;r,r'ff["ﬁr.‘,\'f S0 i’i.-"n"lrl'll b!".' -E‘{I(';I[ua!edl

1 marg. p:AnSL
answering these darken € cirg OMR
i blue / blgey bajy peil 1.
against the correct option g, o
Answer Sheet Provided You, pg

not use whitener / ligquig /
blade/ nail ete. on OMR Ansuey
Sheet, otherwise the

result winy
be treated invalid.

question carries

Section - B, there
answer type
carrying
any 15
Answereq.
are

Questions

are 30 short
questions, g
2 marks, ou of which
Questions are to be
Apart from these, there
long  answer tupe
' €ach carrying S marks

hany 4 Questions are
Wered

Use o any electron;

¢ appliances &
Prohibjteq




82:Gl £0'20¥20g Elowe) ajdi] Aq paiemod

o 217 ]
EU;Q{Ed
on.4 L) F|UE - 3 /| SECTION - A

qnd TS WU / Objective Type Questions
:e Qre gzr 19 100 % & UvT % Ay 9w wey fre mo & frad @ v wE
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nSare g f' 50x1=50

s fhe'n. uestion Nos. 1 to 100 have four options, out of which only one is correct.
g, Each nswer any S0 questions. You have to mark your selected option on the

the e o Shee 50 x 1 =50
th'e C'rﬂle O :
'all pen §1. FUF B R
—— (A) @) @
sy D) I ® HIS A
liquid / (€ = D)
Answer The manager is :
o (A) Boss (B) Owner
Mdcr (D) None of these
O short § ,  qurh Sy § AT
;, each
: : ®
f which (A) W7l ., 6 e
toile (c) =afwa e (D)
ki fw Barriers in effec¢tive communication are
* (B) Distance
marks, (A) Language 5
et (C) Individual differences (D)  All of these
3. ﬁqﬁaﬁq—mﬁ-&mmaﬁ:ﬁt?
' C Pl (B) EEE
nces is (A) i
(C) ST (D)
irection ?
Which one of the following is not an element of direction
(A) | Motivation (B) Communication
o * .
Supervision
(C) Delegation (D) pe T
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(C)

Types of communication are (B) Verbal

(A) Written ”)J ~All of these
(C) Formal >l
R sy L e 8

(B) Wﬂﬂ?ﬁ

A o ferh
© wfys !

Controlling is the ..., aspect of management.
(A)  Theoretica] (B)  Practical

)
(C) Mental (D) Physical ;
R =1 593 ey we 2

(A) vy (B)  @mar siw s

C  wEifter a5y (D) wfowrfa amy

The cheapest source of finance js
(A) Debcnture (B)

Equity share capital

Retaineq €arning

Wﬁﬂﬂaﬂh‘a‘

Preference share
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|2;.l
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control is related to

(A) Results Ll@‘}/f?unctiﬂns

(c) Efforts (D) None of these
Aot § B - R T TE R 2

() F-fereag fawem (B) el e forem
(C) SNl (D)  VE-hiT HAheu
Which of the following is not a controlling technique ?
(A) Break-even analysis (B) Cash flow statement
(C) Budget (D) Managerial audit
o P T 2 2 '

(A) OimE ] (B) =fwal &

) = H (D) W= 8
Controlling is related to

(A) Results ' (B) Individuals

(C) Goods (D) Managers

a1 anefedi & HM oAl @

() =g @ , B) I

© o ' (D) T A S TE

The leader takes work from his subordinates

M tact (B) Byrod

(C) By threatening (D) None of these

fspr &y gfel &
a) @ aget e (B) mw
D
() W (P) R -
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14.

> t are
ethods of developmen Short-term syllabus

“{A) Job rotation method (B) . [-
(C) Development on the jobyD)" A {
wfreror o wer fear wran @ . !
(A) Bgf=F FA W (B) @4l 3 _

(D) SAEEIS T W [

(C) W §H W |

Training gives emphasis on

(A)  Theoretical knowledge (B) = All-round knowledge w

(C) General knowledge (D)  Practical knowledgc

TS & e el Bl 2 k-

(A) U aER (B) @R

© =i (D)

Recruitment in the life‘of{irganisatian is

(A)  Once (B) Twice

(C) Occasionally (D) Continuous

(A) i (B)  werfy y

ﬁmﬁwﬂ 19,

external Source of recruitment ?

(B] P!‘Omgtion

ol W
Service €xXtension
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: .menl
The father of scientific managemer The props

Taylor 3
(A)  Gilbreth M \@/‘“5

Kimbal
(C) Robertson Jig ], Bt ) Te

ey 1 e il 8 o
21, PR i @ w-Tn dew grr faan b s v et
- '] C 'l- : l -

(A) fagm, 7 6 s e (B) el i A) 18

© e, A s (D) 0, 7T G © 1
Which of the following is not a principle of mélflilw!mcn! Biven d
Tavlor ? In whic

aylor
(A) I

(A) Science, not rule of thumb

Mctional foremanship (C) !

(C) Cooperation, not individualism 26. SHAEA
(D) Harmony, not discord (A)
22. SO ¥a-9 § gfint B qeeh 4 wwd (C)
(A) =5H (B) Hftrp Econo
©) st (D) & Fré S (A)
\7 given to workers in traditional management are (€)
W Low (B) High 27. wad
gmmﬂimum (D) None of these (A)
a4 3 3T e (B)
(A)  Fftyray B) = (©)
(D) %7 & ¥ et (D)
¢ management jg Bud,
(B)  Minimum (A) |
(D) None of thege (B)
(C)
B om (D)
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Sounde Linistrative management was 22 pLie) 9|di| Ag paigmod
. » E p B8 T oK -
C Terry » No -
s R TR RS A RN 2
(A) 878 (B) 884
(C) 1901 (D) 1903

T : i, W——— .= 2 S = _
In which year axd Taylor become an engneet Bota s REe
he Wl LL T

(a) 1878 (B) 1884

C) 1901 (D) 1903
S $ S T = i s@ §

(A) mﬁ’iﬂ? HR (B) arﬁiﬁ Tl

o s W D) TR
EconomiC environment of business 1s influenced by
A) Economic policy i (B) Economic system
() Economic development M these
TR e

@a FeEs Rka =

B YRR SrdwETE = W

€ FEE = T e

D) 3= R ) S A wivse
Budget refers 1o

A | planned target of performance
@B) Useol handling future activities

) Systcmatic allocation of resources

(D) Statement of expccted results expressed in pumerical terms

___-_—-—-—---

24]”)(11-501 1 -38/40) Page 9/ 32







elaweg ajdil] Aq palemod

['4
K o F R o e R (217
(A) M <G
(B) i @
€) i, 9y gy i qw
D) T E &

controlling function of an organisation is
(A) Forward looking

I[B] Backward looking

\/}/orward as well as backward looking
(D) All of these

g el ST Sl W Sratem a2
A FITEW B W
© TR D) T & HE TE
‘abelling is compulsory on packed consumer products for:
> (&) Afew - SEE AL
(C) Both of these (D) None of these
r o S TE % foT S 8
(A) TEdl B) e
""" e © P (D) T & &

For effective communication ..........: is necessary.

(A) Clarity Mrtesy

(D)  Allof these

(C) Continuity
%, e g =ie

(A) (B) q;fg:[
(c) sfaa (D) ot & ®ré T
Communication should be |
(A) Simple -(B) Difficult

Q[Q/ (D) None of these

Proper
T T———— 7[RRI T-(@5/40) Page 11152
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} (A) Fodl I (B) <mum

¢ TR 3 (D)  Eefemef 5w
______________ is/are not included in long-term finance.
(A) Equity shares (B) Dividend

{,c] preference share (D) Long-term loan

A ¥ 1 T g3 A
p SR B) %EH
o (D) WA

ayol was born in

Henry F
a) Japan ' \@/ e

America '

(C) Germany
) i vEE aﬁﬁ%mﬂi%\sa@tﬁ@?ﬁ%
w T () I
) T IEE D) 3fEd
In scientific management working hours of workers arc
(4) Increased (B Decreased
(C) No effect (D) ~Average
g @A WD mﬁﬁm%m%
A 8 B ©
c) 4 o) 2
According to G- R. Terty, types of Planning are
w8 ® ©
© 4 [ERIA. " L
“5011-(35/49
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(A) TR B) fam

(C) Fl?ﬂ-q (D) ﬁ;ﬁq ;;
Control 18 the sttt function of the management
(A (B) Last

(€) Third (D)  Second

P TSRS S R |

A) (B) 3T

€ ¥eew (D) ¥ ¥ FE F

Control is a manageriai fg_ncﬁon |

(A) Compulsory . (B) —Necessary

(C) Optional" (D) None of-the_se

fra=m smavas 2

(A) < Wﬁ’ﬁ fora

(B) WEAH AR a1 STHA ¥ o
©) &2 HET AT IuHA &

D) wH & gf

Controlling is necessary

(A) for small enterprise

(B) for -mcdium sized enterprise

(C) for large sized enterprise

\,(D)/B:ii of these w

Sar- 34/ A/X11-5011-5/40

W

(| P2.2MOd



P E et
(B) e S g (A)
(©) R SYerE, T SO T WA ST (¢!
D) @ Tl *
The experiments done by Taylor under scientific manag, '8
mtn[* (C)
(A) Motion study :
Ana
(B) Fatigue study and time study (AL~
Jo Motion study, fatigue study and time study "i'-.ci‘.%
(D)  None of these = e
52. 3w vaw § yfiwi ) (A)
A (C
(A) T g (B) - =M ENeht 2 :
Q) : Lib
.ﬁ? 9T T (D) 3 q HIs 75 B
By scientific management workers are
\MCneﬁtted : %
(B)  Suffered lo 7. &=
[C)  Not effected =
53. 0 Suw 9 (D) None of these i
C
A) s i«v
(B) & 3ty
(C) vammEm o) er
Henry Fayol wag e : 9T 3&@ (A
(A)  Scientig ¢
C g 38,
ks (€ Accountgn, UB}/M‘“‘"B Engineer )
b
T % fugry § (D) Prodyct; - 3
| 1on Engineer
(A)  nfaefre ¥
) wrfir B) St A
|
A
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priﬂcip]es of management are 'S
)

Dynamic
) B Flexible

Universal
€ . \UD}"All of these
ﬂ Fi E % cse
A 25% (B) 30%
[C] SOGK(D [D] ?5,, A

Analysis In scientific management is

LL&A)% (B) 30%

(C) 50% (D) 75%
e ISR A ?

(A) E&d (B) IE®A

) T EES D) ¥ A FE

Liberalisation policy in India has been

Mucmssful (B) Unsuccessful

() Totally failure (D) None of these
: ﬁﬁﬁﬁaﬁn-maﬁmmmaﬁmﬁﬁm?ﬁ% ?

@A) ST (B) e

(€) T (D) e

environment ?

[A) Uncertainty (B) Employees

(D) Complexity

(C) Relativity
. T I Ao Bl 8
@) fih (B) a9 oA CIG|
€ R Pl ¥
\_A good plan 'is. @) Time consuming

(A) :
(D) Rigid
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authority cannot be delegated of

(A) Routine work . -

: i (B) Necessary w
[C) € rdinary work D) E Y. WObl
: asy work
21RO | ATea Bt @ 3

(A) favig &= 7 sl =t it

(B) faofa 1 % arftert = IEICHERE )

(C) T T S aﬁ CEIE

D) T W) ST Wt w1 Grer
Centralisation refers to

(A) Retention of decision making authority
(B) Dispersal of decision making authority
(C) Creating divisions as profit centres

(D) Opening new centres or brnaches

TS S99 geeg # afefed 3
(A) Wl B) =
(C) & (D) T g &

Human Resource Management includes

(A) Recruiting (B) Selection
(C) Training Wll of these
et

(A) |ISA T G :
€) wEY % B (D) ¥ AW
Staffing is

(A)  Part of organisation
(B) Function of personnel management

(C) Function of management
\(D}— All of these

(@) HET S R

BidL | Aq paiamod

Sfiregor <t wgfa e 2
(A)  wr wee SRE @) s
() widragar e (o) ¥ @& T
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| T frefra s <6 forvwamd &

) -l (B) e

(C) firrearfar

characteristics of sound ﬁhan::} pl::ﬂ .ﬂ LI

(A) Simplicity (B) Li:::'?m

() Economicality \D)}—"All of tlhi se
fave & TR e Ty fRuolt iy e g off

@ RS (B) e #

) IR (D) < A

The foremost stock excha:flge in the world was established in
(A) Delhi \ (B London
Mcrica (D) Japan

, ¥ = & SR R R

@a R (B) hieThral |
c ==5H (D) T aEh
Regional office of SEBI is situated in

(&) Delhi (B) Kolkata

() - Chennai P)P= L ol these
T St B B A Fferr g 2 |
a) dreH BN

© fasht & o) WA

Equity shareholders get the rights in the company for

(B)} Puschae

(4)  Vote
©  sel (D] | Nane ol thee

B
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o6 e A @) 2019
i ¢ o
(A) 2018 o) A B T
020 : 3
P d Consumer protection Act come Into effect
When did Co (¢
(Al o [BJ 201 9
s ' [D] None of these : . &
(C)
77.  IONET & T & v

(A) Wﬁm#ﬁ (B) @@mﬁmmﬁ“ («
€ sREdFvREs@m (D) 3H 9 a9

R
Responsibilities of consumer are
(2
(A) Do not make hurry in buying
: : C
(B) Beware of false and misleading advertisement {
(C) 1 m

Awareness towards rights

Mof these
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n 15th March eb"ﬂteq

(B)
©) 15th July 1St Apry)

D) sy
T T ST 35 7 “huary
p - TEE HHITH

(B) R Wﬂ
PR (D)

T ¥ mf

Redressal Agencies under the Consy
mer Protection A,
ct are

A) National commission (B) State commission

C) District forum (D)  All of these

e SRR Tl o 7T ITteTiies & | E i S b
Y SR (B) WHa-Tf

) ScaTed (D) SR

for delegation of authority 1O be: effcctive, it is essential &8

responsibility 1S accompanied with necessary

= er
4  Authority 1)) e
(D) pPromotion

) Incentive

&‘Wﬁﬁ%’lmﬁﬁtmg

B =i FTed :
fqymfta €8
(D)

willingncss 3 isatl
“uee... depends ON the - B) Functional orgaf‘.“ ]
Y Formal Organisatioﬂ : ai ganisé
' (D)
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A 2 5 :
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re
nisational steps

The orga @ 4
g D) 8
€ 6
e & Wi
(A)  FEEE (5] 4eoT
© s () AR T
Employees’ training is |
_Mecessa:y (B) Unnecessary
(€)  Compulsory (D) Wastage of money
wivrgor i fafey/fafrai 23 ,
(A) = =t sfew (B) = W yhem
9, 3 sty D) wamh
Method(s) of training is/are

(A)  Job rotation training [B)

(C)  Appren ticeshj On-the‘job =

hﬂﬁﬁ?{m Ip training' o
Ml] Gf theSe

| ;a 2114

(A)
(C)
gtal
(A)

-----

9. fe
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N Personne] Dcpﬂl‘lmem
Marketi B) Prg
0 a ing Department ‘[D] '
T TR BT oy T e §
37T T SR S ST
T i (B)
C) e (D)
If you want to keep 3_ proof of your Communication
L eeeesss COMmMunication,
A Informal , (B)
) Verbal (D) None of these
b ST TN AT e @ R 2
Wy femfem (B
0 urem o AR s
Which of the following is not an element of communication
Process ? s S
: Commumcatmn
“(Decoding (B) -
b ch (DY RecRS!
annel aife
oo et 3 Fyafeor 1 SERCE IpACE™
A ET‘{!%EF by =i q aHl
o (D) sis of
U b ' determin,ed on the Pa
“tl'fation media Should pe B) 'Pcrﬂonal
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v "VWEr dividends

B)  Pay higher dividendg

< Diwdends are not affected by growth consideration
(D)  None of these

4. 19 oY 3 e i 3
4 fodfie P (B) =it #Y wre

©C) < o™ =7 e (D) 3 & ofy

Main function(s) of financial management is/are

(A)  Financial planning (B)  Procurement of funds
(C)  Allocation of net profits (D)  All of these

5. ﬁ?ﬁumafrqwmﬁmmaﬁamﬁmwﬂl
(A) 1910 - 1920 ¥ ex (B) 1920 - 1930 % 2=
(C) 1930- 1940 % (D) 1940 - 1950 % &N

i \ 1 ded
Traditional approach ' of financial management was discar

during I
(A) 1910 - 1920 (B) 1920 - 1930 |
(C) 1930- 1940 (D) 1940-1950

6. Hhag Tral HEafal T iy & 2 |

‘ (B) 50 °
(A) 30 - 5
"o el S (D) 100
ies ?
' how many companies
is dependent on
Sense:;o p v i
| | |

eF 5.5 (D) 199

V. o9 e fiofy fored wwfd @ 2

3 | @) fafia aren
() Eﬁﬁﬁ | D) fasa i
€) - gfteprom |
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. WUT -« /| SECTION - B
ST "y / Short Answer Type Questions

7 19 30 7% oy sy &1 g @ fet 15 wvAt & e #1 0

3 37 [t &
ion Nos. 1t 15x2=30
stion o 0.30 are Short Answer Type. Answer any 15 questi
L question carries 2 marks. ; IZ Z ions.
X2 =30
i F R ? ]
rw planning ? '
et TS ST STTUR 1R ? 1

What is the criterion of effective planning ?
o ed TS # HE-H fgwand B =fee 2

What should be the characteristics of an ideal organisation ?

- Safem | 1 ARE 27
What is meant by labelling ?
ﬁiﬂ‘éaﬁ? =1 T qId @ ?

What is meant by sales promotion ?

IqsiRT a5g I FHeEe

Explain consumer product.
ey w1 21 gag # gaFe|

‘Management is an activity.' Explain in brief. 2
. gy & A, FAAEC
Explain the characteristics of co-ordination. 2
2 wmawwqﬁaﬁﬁmt? £
HO“" .docs scientific managemcnt bring about compP
change ? A
10.  Frfirsor &Y

l e ——



? Frdem 1 Feedl 21 ferdrwarait 1 AarEd| ‘
of directing:
Enumerate any two ff.’&ll.l:JT'CS 2
12.  wiaees % *1 Fasy|
State the functions ofa_supervisor. 3
13. mmmmﬁﬂﬁé'ﬂﬂﬁmm’ 5
State any four featurcé of Consumer Protection Act.
14, ¥ Frg o qun Rrawo 5= #18 ? 4
What is ECO Mark Scheme and Redressal forum ? |
15. "It e S ser #1 Wl 2
"Entrepreneur takes common risks." Explain.
16. %IE F y9Y % figra foafau) 2

Write Fayol's prihciples of management.

17. Syt %1 37¢f Hwemsu)

Explain the meaning of globalization.

18. 3w +fifey =1 7w a7 2 2 : )

What do you mean by economic policy ?
19. St =TSR %1 77 e R 2

[ =

=2

What is the meaning of capital market ?
20. ﬁ?ﬁuw%ﬁsﬁmmwaﬁqﬁﬁm 2
Describe any four functions of financia]
21.  #f % grames F wmu|
Mention the protective functions of SEBI.

22. Mﬁmmﬁﬁmmﬁww'

Distinguish between Centralisation
and D T
5 3 _3 A _ ECentrallsatmn.

‘market.,

j

What is the difference between : -
— NN, Recmltrnent and Selection ?

L2/A/XI501 155, 0/%
Page 3
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4. HﬁTHﬂr%ﬁ»‘%ﬁ‘aﬂﬁnﬁaﬂﬁaﬁﬁm
State any four benefits of training,

5. HIfE® v§ frfag RN F av ifdm)
Distinguish between oral and writ

26. ﬁﬁaﬁﬂm%ama.

State two examples of non- -monetary incentives.

27. U W A T w1 weey wamw

ten communication

j) State the importance of controlling in an organisation,
’8. Tt Ot it 1 f Riward samsy
2

State any three characteristics of fixed capital.

29.  wfawTia ™ i wHeEy 9
Explain retained profit.
30. St Remm g 2 - 2

What is capital gearing ?
‘ <1 I 99 / Long Answer Type Questions
mﬁmalﬁaéﬁééﬁﬂumﬁlsﬁﬂﬁﬁ?4uﬁ%mélm%
fee 5 @ it 1 4x5=20

Question Nos. 31 to 38 are Long Answer Type. Answer any 4 questions.
Each question carries 5 marks. 4x5=20

| 31. 39YIHT GIEV % HE 1 99 i) ' 5
,l Discuss the importance of consumer protection.

132, fave ey & R £ fie s

Explain the role of 'Advertising' in marketing management.
33,y fawft w0 R 2 @ Sl H Ao S _
What is stock’ f-;xchangc ? Discuss its functions.

| 34, et et it smrRie goft # g ARl

ed capital and working capital.

Differentiate between fix
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What is meant by budgetary contro
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State various functions of managemen
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ment." Write your views op this %,

"Administration is a part of manage 7
statement. ’
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What is Business Environment ? Explain its characteristics.
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